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Some countrles have a large number of earthquakes. Japan is one of them.
Others do not have many; for instance, there are few earthquakes in Britain.
There is often a great noise during an earthquake. The ground vibrates, and
houses fall down. What kind of building stands up best in an earthquake? A
building with concrete walls is perhaps the best. A steel frame will make it
even stronger. The frame holds the different parts together, and the walls do
not easily fall. There is less chance of fire because concrete and steel do not
burn.
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Do you agree or disagree with the following saying? “No news is good news.”
Please write a well-organized English essay of approximately 300 words to
support your answer with reasons and specific examples.



